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Fr=pi-mig + F2= 0.1x130x9.8+20 = 147.4N

TEHRAIEERRRE S F2 BY F2= 20N

AR N H R RS EIREE R

_FrPn_ 147.4%0.01
2mn1 2x3.14x09

RIRLLFTTNE = EE ) R RE R

M1 =0.261IN - m

RIRZARITNE S P BUFp=60N
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IRIBH AT (EHEL: Ms=0.03N - m
ESRRNHERE

Ms= Mi+M2+Ms= 0.261+0.02+0.03 = 0.311N - m
TERFERIH R

Ms= S1-Ms=1.5%0.311 = 0.467N - m

St ZERF, —HHS1=15, BSi=1.5
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2) FIRLITHEEENIRE:

Ji=mi( }2=3.296 x10*kg - m?
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3) fABREXHHESRIFETNIRE |
Fifih J3=0.015x10-4kg - m?
4) MERE:
Ja=J1+)2+)3 =(3.296+3.634+0.015 )x10%=6.945x10%kg - m?
5. JTHENEREEEEAE
1) BRI B
2mwneds  2x3.14x2400%6.945x 10

3.14
> x7.9x10%x1.2x0.025%= 3.634x10*kg - m?

Me= o +Ma= S +0.311=2.056N - m
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M7= Sz Ms= 2x2.056 = 4.112N - m ”""'WHW
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So REER¥, —f S2=2, B S:=2

EREEER nm=3000r/min > n2 = 2400r/min

BRELEHE Mnt= 24N - m>Ms= 0467 N - m
BRE)#54E Mm2= 77N - m>Mr=4.112N - m
ARENEFIRE Jn=146x10"kg - m’
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1) {ABRERNRABILS PR E = 131072 fkod/E
2) ES{BIHEERE & = £0.01mm, HIMIEENSPER W = 0.01 mm/fkoh
F1-09/F1-10  W-E'Z 0.01x131072 x1 _ 131072
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3) KBF109=13 F1-10=1072 F1-11=0 F1-12=1000

9. RWEPLICHENEHBSERARSMHMRETHRARBNGES TERREX, BLEHE, SEANWEHH
PRW, (BB FEHLLIED

1) ARV SRS TIEFEER n2= n1= 2400 r/min

2) AR &S LIEEENRMNFTFENESEROR RS MR

(_TE _2400x131072x1000
80D eoxizlor2 7

3) PLCEERN 88 Bk ko B s it 713K f2= 100kHz
f2=100kHz > fi=40kHz  FHEER
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